SF2a2H 128 (K)

ML R —

Bl BT P T & 3 Rk =

N | A AL 4 1047 VAL e

1| 1o |ERUEFIE FREEEEAN ppesamm a0 sy 1,188,000
2| 11:05 %f%%éfjﬁggfi‘%%% JEARGR (B) /MR ZE 1,375,000/
3| 115 |FTEEEE SISO BT geremm sl A
a| 1ngs | TSRS | g (BR) =i 34k 4,620,004
5| 1135 | PHVCERIIIRRAAZRE | HOHE T () 93,100,000/
6

7

8

9

10

11

12

13

14

15

16

17

18

19

20




A
A KL A5 B 1 1
FitES  31—13
4 B N - s
BRI B RS 5 E
i 4T 8 P FrRT P M
Fa4 @ B 251 H29H (k)
A AL B B 242 H12H oK) 1110047
N L 3% P BT T &3 K= R H A 310513
KL YR TS ERAR TS iR Gl A A A
(BR) )N 7Y —> TEFLEABLIA) 1,188,000
_— L4
wAL A R ) ik ERE 1,080,000/
fEpr BEREME172—3 U e B 108,000
| ESC TR
ZAt AR Af24E3A31H
G REARTS &
(Bi%R)
A fL F A L & o m
(438 %1 [ %2 | %3 M| ™
1 ) IOk 1,300,000 1,230,000 1,180,000
2 (BR)ZENTV—> 1,250,000 1,200,000 1,080,000| RiE




Ijz‘: N
A KL A5 B 1 2
TE&s 13—47
= 4 . e e . iy
S S R it R SR (RS 35 1-T9 M S =R 1R T8
e 1T % AW EE HN
Fa4 @ B ST24E1H29H (oK)
AN FL B K SR24E2H 120 (k) 11850557
A KL P BT T A 3P R s = B HH R310%F#3
NFLEE Y 3R RS AR R AroJE iR JEARFR
- (B) /MR TEFLEABLIA) 1,375,000
AL #H R I Bk L 1,250,000
T HRHA338—1 U e B 125,000/
Rl +K
T # SR2HE3H 31 HGZL, FATBRESOABEST-HA L. B HOF B 5165H LAN)
G TR TL=22m
(Bi%R)
N AL & o m
(438 %1 [ o2 [ % 3 [ ™
1 CB) /NI THEIE [z
2 REEPEEER (BR) 1,500,000
3 () /RT3 1,250,000 e
41 AJI A (BR) 1,600,000
5 Wk R 2 () 1,400,000




A AL G R E 3

THEEKS 6—1

4
TROCHERE PRB0AESE B/ NVEREEIF TE

fig AT 5 T B b HiN

a4 @ FEn B SFN24E1H 29 oK)
A AL B B SR24E2H 120 (k) 11EF15%7
A KL 5 P BT T &3 K= R H A 310513
KL YR TS ERAR TS iR o R B RS AR
R%47L PEALEBLIA) 3

_— L4

w AL E OB

- AR
AT TH B B ka5
Rl +AR LT
T SF2HE3A 31 H (=720, Hr TS OB EST-GA X, SF24E10H 300 £70)

wmoom FiZE T (REAR SRR AT) A=410nd THEAEK 1L=27m
HEAREEY T(REHEAK) 1L=27Tm  HEAHEEY T. 1L=26m

(B4R HR)

A ﬁ & A L & @ _—
(fr4 %) %1 [ %2 [A] 53 (A

1 (BF) bR 8,900,000 iR

2 (KR 1 TR 9,500,000 BB

37 L3 (BR) 10,400,000 [E31]

4 RREFRERR (FK) 10,600,000 iR

5 (BR) 2 AHA 9,200,000 iR

6 (Fk) =fisE 3t 10,000,000 iR

7 B (BR) 10,100,000 iR

8 R R (BK) 9,100,000 iR

9 M PR (BK) 8,950,000 [E31]

10| PEA T3 (BK) 9,500,000 [E31]

11 AR A (BK) 8,600,000 iR

12 E AT (BK) 9,000,000 [E31]

13 %25 3 (BK) 8,800,000 [E31]




A AL G R E 4

THEEE 1-2
= 4
THEAS T A — e it e T T
i 4T 8 P FRE HE HN
Fa4 @ B 251 H29H (oK)
A AL B B SR24E2H 120 (k) 11E525%7
N L 3% P BT T &3 K= R H A 310513
NFLEE Y 3R KT R AR o R JEARFR
- (BR) = TEFLEABLIA) 4,620,000
AL #H REREE A T ERE 4,200,000/
fERr #RTHR214—1 U e B 420,000
| (=3
T ST293H 31 B (=720, H RS OAGRESGE1T., Ok B OF A 560 A LLN)
G TTaVEREENME 46 TTaUREENE 7H REASREEE 206
(Bi%R)
A fL F A L & o m
(438 %1 [ %2 | % 3 [ ™
1] (B) =fwE A 4,200,000 e
2 K[ R (RK) 4,800,000
3 (BR) T R AT FER
4 HHET (BR) 4,520,000
5 () By EX*H 4,600,000
6 (BR) Hr AT I /R RS
7 AT T2 (BR) 5,480,000
8 B 2 s% (BR) 4,500,000




A AL G R E O

THEE 2-1
= 4
R0 TCAR EE ) || AR D AT 3% & T3
i 4T 8 P AT TTNERT HN
Fa4 @ B 251 H29H (oK)
A AL B OB AF24E2H12H (k) 11/EE355y
N L 3% P BT T &3 K= R H A 310513
NFLEE Y 3R TS ERAR TS iR AroJE iR T
- P T (BR) TEFLEABLIA) 23,100,000/
wAL A R AR 0 ERE 91,000,000/
BT BRHIEM104 U e B 2.100,000[]
| WWE
T ST293H 31 B (=720, H RS OAGRESGE1T., Ok B OF A 560 A LLN)
G AR AT R E 75 (EH3H - R4 5)
(Bi%R)
A fL F AL & P
(438 %1 [ %2 | % 3 [ ™
1] (BR) 72 %2 ARHHL 21,700,000
2 (BF) =fidE 3L 23,000,000
3 (BR) T 3R AT 21,700,000
4 HHET (BR) 21,000,000 e




